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WY F 24y
4] 4535|F K RBEZE(2) [TE+
F3EF Y DNS

(ris

[8A28H

[13:23]




BF
110mH(.067m)
R B
BE +1.7
IE[ L-»] No. K R4 YL ES
1 5 161 &N 632 [EHES 15.83
My IVEEEV]
4] 572|828 &A1) =]
—yat)  Yavak DQ

(ris

[8A28H

[13:33]




BF CREE [BH28H  [11:00]
el
=
R g
B fz| & E] Fon - K % Fi=ES 1m20] Tm25] Tm30[ Tm35] Tm40] Tm45] Tm80] Tm85] Tm90 x| ®mE
1 4 NAGR %&(Q2) R - = - |- 1= |- lo lIxo [|xxx 1.85
4+h 1%
2| 1| 5925|Em X#EQ) miEh - - o o o |xxx 1.40
N8 a4%
2| 3| 5904|&F —F) Infgd - |- lo lo lo [|xxx 1.40
41 {yy
4] 2| T224[AA ARE D) AR xxo [xxo [0 |xxx 1.30
347 bEF




5T B3 [88288  [15:00]
=]
7E & Bk
R
e one = | o | _a_ | SEID | 4| _e_ | _al =
gz | B | Fon K 4 g4 1 2 3 B= 4 5 6 ERE 3 iw5ZE
1) 18| 284|7EmE JLAE(3) BREEES 1.3 7.24 7.41 1.47 1.47
Aby 394 +2.9 +1.6 +2.4 +2.4 +2.4
2 16| 272|E@ ER£E(Q2) xt5 6.64 6.51 6.44 6.64 6. 64
918" 394 +3.7 +2.4 +2.4 3.7 +3.7
3] 17 5250\;8H M&£(0) [EARS 5.3¢ 5.89 x 5.85 5.85
It 4 )agtd +1.9 +1.1 +3.6 +1.1 +1.1
4] 1 13| A RES() A= X 5.81 «x 5. 81 5. 81
YYER Y5b +4.¢ +1.5 +1.§ +1.5 +1.5
5/ 11| 4649iFE 1B A () Bt 5.7 2.74 2.8 5.70 5.70
7h/ b +2.6 +2.0 +3.5 +2.6 +2. 6
6] 13 11%k## HEQ) HHES X X 5.6 5.65 5.65
th4 Y3 +2.1 +2.5 +2.5 +2.5
701 10| 6%4|&%T &F() HHRAPGE 5.47 4.63 5.4 545 5.45
Y Y1y +0.4 +2.6 +2.3 +2.3 +2.3
8| 5| 4536|F*E HIEN) LiEh 482 479 x 4.82 4.82
My 19% +1.6 +1.2 +2.9 +1.6 +1.6
9| 2| 5924|EFHEXER(3) EnfEsh X 4.81 4.68 4.81 4.81
/A3 byhny 2.7 +2.4 +2.1 +2.17
10| 6| 4538|H =m iLiEh 4.5 x 3.79 4.54 4.54
440 VY +2.5 +1.0  +2.5 +2.5
11 8| 5555);ZE HA (1) & 457 4.37 4.31 4.52 4.52
239 49% +2.2 +2.7 +1.§ +2.2 +2.2
12| 4| 5081|2# Z=% () JER=H 4.31 4.28 4.40 4.40 4.40
934 hth +1.7 +2.3 +3.4 +3.4 +3.4
13] 19| 561|=R =EF () HHES X 408 416 4.16 4.16
I9F 94 +1.5 +1.4 +1.6 +1.6 +1.6
14 7] 693 E [EQ) HHRAGE 4.09 3.98 4.01 4.09 4.09
157 RV +1.7 +2.3 +1.§ +1.7 +1.7
15| 9] 6318|kxE& ¥ () THEES 3.94 400 3.87 4.00 4.00
Th Y3 k4n +1.4 +1.9 +2.§ +1.9 +1.9
16| 14| 5340|ZM@A &E& (2) =& 3.727 3.51 3.8 3.89 3.89
55 Yoy +1.5 +1.0 +2.6 +2.6 +2.6
17/ 3] 4537|#REB M) iLiEh 3.16 3.69 x 3.69 3.69
U4 1%b +3.0 +2.71 +2.4 +2.7 +2.17
18] 12| 9551|FAR #&#%(1) & 3.67 3.21 2.8 3.67 3.67
&b k0L +3.3 +1.5 +1.0 +3.3 +3.3
15| 6322|tFFR EX(2) THEES DNS
b9 Y394




==l RE [8F288  [12:30]
JL
fa# s (5. 000kg)
R
BT |+ - E % iR % - o | 3| 3RO 4| 5| 6| BB | WE
11 3| 5712|EA HH(2) Nz X 9.8 «x 9.83 9.83
VAC MUY Y]
2] 6 59301&’17&1}64(2) ImfEs 9.65 9.6 «x 9.68 9.68
#t  19b
3] 5| 6323 RH‘%EEIbL E3(2) (ARG 6.70 524 596 6.70 6.70
bt 5 b
4| 2| 5907|maisEts (1) Infgd X 565 544 5.65 5.65
b a%b
5| 1| 5714[E —1@ 2 MEX: x | 504 53] 533 5.33
WYY HRE
6| 4| 5254[chzk =+ (1) ERRH 4.99 4.36 4.40 4 40 4.40
Thyh 74




=5

[rRE [8288  [12:30]
Fash, ¥ (6. 000kg)
R
NE 4 S| Fon - E % RS - | - | -3 SE‘_% 4| 5- | -6~ | =g | =
1 TomE REG | BEE BB
T 9.10 9.31 881 9.3 9.31
2 2] 169|mE K& =
fi/ge Z},ﬂj@) BES 9.2 x | 891 928 9.28
3 3] 68 AAE =M(Q2 | Bws
NN A= x | 851 x| 857 8.57




[rRE [8288  [12:30]

BF
Fah % (7. 261kg)

R
B S| Fon - E 4 R - |- | 3 | SED ) 4| - | -6 | e | WE
Eilﬁnaﬁi
1] 1270[7rA & SRR TR DNS
Bh9F 33




=5

Hﬁ& (_I 75kg) [REE [8288 [ 9:30]
R
JEsL | B B | Fon - E % FE4 - 9 3E®
— —_9_ _3_ o —A— P~ —A— =
e e - 2E0e 4| 5| 6| =R | wE
5 b 32. 11 X X 32. 11 32. 11
2 5 60|2FE #EQ AES
M4y 593 x | 23.36 28.80 28.80 28.80
3 4] TemriE =E) RS :
oL 23.58 17.68 23.03 23.58 23.58
4 1] 4EE —£Q L5 :
) - ;{;; {94 13.19 X X 13.19 13.19
= =M@ |ARE
K 848 = x| x| x W




HF [RB% [8B288 [ 9:30]

M #2#% (2. 000kg)

R
B S| Fon - E 4 R - |- | 3 | SED ) 4| - | -6 | e | WE
Eilﬁnaﬁi
1] 1270[7rA & SRR TR DNS
Bh9F 33




=F [RB% [88288  [15:00]

o U #2 (800g)

R
B 45z Bt | o - E % % - | -2- | 8- E% -E*%i 4~ | 5- | 6- | mE | BmE

1 3] 571 :;Fj)-% 7217&(1) Rts 41.45 42.23 x 4293 42.23
g . . . :

2| 2| 18 Eﬁ ’,ﬁzg @) HEAGS 33.86 33.84 x | 33.86 33.86
5 4T : : : :

T 631 ILA BEQ) EEBEE DNS

YYEL Y1l
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